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WU AT AT FlgATIA STt
GENERAL STUDIES AND INTELLIGENCE TEST

1. IS WIOHER Tl HRoT
(1) VG SF6T ST qofl Taed R
(2) oA UETY FATIRT BTk STEET
(3) HIICTE! ST TI0ATIE HHT ST
(4) HTR vgq foeesd el
Paper floats on water because
(1) Paper is solid and water is in liquid state
(2) Solids are lighter than liquids
(3) Density of paper is less than that of water
(4) Paper does not dissolve in water

2. 'RIVTCATE! TR U AEAT. | o e el @ wTeed v fshd edr aEa 2
(1) 6 Tk YEne SEdd (2) ST U ST O YR AEd
(3) TEIIN UG STVl STERAE 3G (4)  ohiRl TKich AT HRETH ST
If the statement is 'no book has wings', then what can be concluded?

(1) Allbooks are without wings (2) Anything with wings is not a book
(3) Abook must have wings (4) Some books are without wings

3. U OifcrE BE S 909, 20y, 20¢, R0y, R0l AT HEAMI ST ST Tl UTE 39 3R,
R0y BT Qo¢ =1 SIeHT I1S[H; oy B R0¢ =41 STedl dI9H ; 208 BT Lo¢ =AT ISeAl SIS 1T
R0 BT o4 =T TTeAT FS[H 3T 3T,
T HEAWT TTeAIeTdaR] hioT 3T S8 2
(1) Roc¢ (2)  Roy
(3) 2o¢ (4) 202
Five policemen represented by numbers 101, 105, 108, 205, 208 are standing in a
queue. 205 is to the left of 108 ; 105 is to the left of 208 ; 101 is to the right of 108 ; 101
is to the left of 105. Who is standing in the middle ?
(1) 208 (2) 105
(3) 108 (4) 101

4. A Hiel afect T U WRET YR WA TS S FEE A A0TR AR, T @ SIS il
oo a1 2
(1)  g&ar (2) PN
(3) TR (4) i
Yesterday my father said to me, " Day after tomorrow, on Friday my friend will arrive
by the Deccan Queen.” What is the day today ?
(1) Wednesday (2) Friday
(3) Thursday (4) Saturday

5 P.T.0.
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5. W OUEE AT T8, AEre Hibu] e, HIeuTe IS Teed, YR U Feeel ST d=el qofl
(1) oo a Y (2) AT o FE0T
(3) I & el (4) U9 Aol
If water is called butter , butter is called soap, soap is called ink, ink is called pen and
pen is called water. Then which of the following should be used for washing clothes ?
(1)  Water and pen (2) Butter and soap
(3) Inkand bulter (4) Pen and butter
6. TH TG CHBEEA Medell SR s Yeieh y Hf2HM ged. Tht wiamem Jehel fass
A <RIl kel SrEaT Qo fafeidia e o el 30T 4éie 9| WeRrest Qo aNA 2o fafeH
3R 3T Tk FHTIA. ST Sadl & Hifed! sereh foeh! camaes! fahdt arset 2 ?
(1) Ro.20 fH. (2) <.3y .
(3) <go.oy fA. (4) .4 A
A bus for Goa leaves every 25 minutes from a bus stand. After enquiry, the passenger
was informed by the clerk that a bus has already left before 10 minutes and the next
bus will leave at 10.20 a. m. At what time did the enquiry clerk give this information to
the passenger ?
(1) 10.10 a.m. (2) 9.25 am.
(3) 10.05 a.m. (4) 9.45 a.m.
7. o e Ew S 9w 2
3 Y
(1) %3 2 33
(3) =
Find out the missing figure (?) in the tnan/ole\
(1) 43 "33
(3) 39 (4) 31
8. e A1y fofen =11 9 wedmeE S 3o T o7, 2 vRUH SEv= Yger yeds & fh
(1) 2% (2) Ro
(3) 2 (4) R

Distanice between two cities namely Khamba and Limba is 120 kms. At every 6 kms,
there is a police station along the road which connects these cities. TTow many police
stations are there between thcse two cities ?

(1) 19 (2) 20
(3) 21 4) 22
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9. W@l TRk 9 Fed wigl Gl @ o, wu[E @t T q9R el @ TR A
HISUTR ST 0T
(1) fem (2) fadl
(3) (4) T
Three of the following four are alike in a certain way and so form a group. Which is the
one that does not belong to the group.
Day, Minute, Date, Hour
(1) Day (2) Minute
(3) Date (4) Hour
10. @Teiel ATfeRhdiet Meseiall 3ieh feeiean wataieya o,
%, %, %%, R4, —, ¥R
(1) =& (2) Reo
(3) e (4) ¢
Find the missing number from the given alternatives :
4,9,16,25 —__, 49
(1) 36 (2) 30
(3) 47 (4) 48
11. WAt S AoTH S w2
83, W, &Y, %Wo, 2?2
(1) RRe (2) 2
(3) N (4) 3
Find out the number which will come at the question mark :
13, 32, 69, 130, _2
(1) 220 (2) 221
(3) 222 (4) 223
12. TR A HIeR! HE 1 Hiel.
QUE, 23], <¢,. %%, R
(1) e (2) 2R
(3) ¥% (4) =%

Find the odd man out:

176, 132, 88, 44, 21
(1) 88 (2) 176
(3) 44 (4) 21

7 P.T.O.
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13.  ETACTER! FHIVTT SUIERTE TRl Hishioah sTH= soTewert faem w2
CEG, HJL, MNO, PRT
(1) CEG (2) PRT
(3) MNO 4) HJL
Find the group of letters which is not in accordance with the groups of letters of a
certain code language.
CEG, HJL, MNO, PRT
(1) CEG (2) PRT
(3) MNO (4) HIL
14, UHT Hishfeeh W€ POT =01 ¥isarell 51 1 R feen St ot oo |ikfas v STOP =1
wregTe fofedt simien feer smEer 2
(1) 'so (2) 9
(3) ®¢ (4) &%
In a certain code language POT is given weightage as 51. What weightage will be given
to STOP in the same code language.
(1) 70 (2) 72
(3) 68 (4) 66
15. el Aifdehdlel §E wecd] s fAgiee et Jon=1 HE2= f5diA 3 HPm 2
RR, WRR, B¥Y, (23, ¥
() % () =
(3) R (4) 2
If the following figures are arranged in an ascending order, what will be second digit of
that figure which comes at the middle of the series ?
917, 531, 645, 813, 724
(1) 4 (2) 3
(3) 2 4) 1
16. @ a1 STA1 FHM fTeTeTd Jiae=a1 Sl Yege S HI0T ?

RIW, ¥oR, 3T, 2R, LRL
(1) ¢ (2)
(3) & (4) “

What will be the last digit of the last number if the numbers are arranged in the
descending order ?

225, 406, 312, 117, 528
(1) 8 (2) 7
(3) 6 4) 5
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17. @l fecied qaiaiht ama w1ig g arfae gof #.
Lel, ¥ow, 383, R, 2
(1) Rov (2) 2R
(3) %2 (4) 22

Complete the series by using the correct alternative.
585, 474, 363,252, _?_

(1) 101 2) 111
(3) 141 (4) 121

? 3
e | ¢

(1) (2) 3%
(3) 31 (4) =<
Insert the missing number in the following figure.

? 4
19
11 o
36

(1) 25 (2)
(3) 35 (4) 38

19, S +, -, x, + &Il fo=si=an s1uf=l sTeeteee shall 27101 SR 22 x ¥ = \9 &l 37diel & x &Il
e w1 w319 2

(1) = (2) 39
(3) Tl (4) i

If the meaning of the symbols +, -, x, + is interchanged and thereby 11 x 4 = 7. What is
the meaning of x ?

(1) Addition (2) Subtraction
(3)  Multiplication (4) Division

9 P.T.O.
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20. R Toil WU £32%, Salt *eUTS| 4E¥?, Soil FEURI 4R3¥, Stain TS 4REIG @ Station
TS i ?
(1) 4“R&RIRYL (2)  4RERIBRE
(3) URER¥RE (4) 22"XIRY
If toil is 1234, salt is 5641, soil is 5234, stain is 51637, then what do you mean by
station ?
(1) 5161327 (2) 5161426
(3) 5661426 (4) 5162327
21. U &G THA Higaen e o7 e fadt. digdd Hieuat wH 7 fresfaeel TR @ e
FHT 77 ot Fesfaet ?
(1) =T (2) dEH
(3) T (4) ol & @
In a class, Ram scored more marks than Mohan. Sohan scored not less than Mohan.
Who scored the lowest marks ?
(1) Mohan (2) Sohan
(3) Ram (4) None
22. YA 9 A9 SRk T eTEd. B0 9 RAW @i T, a9 9 50 gUIR AR, W AT
AL §OR F THIAT 107 3 2
(1) =40 (2) fewr
(3) = (4) =i
Kapil and Chetan are good in their behaviour. Hari and Dinesh are not good. Chetan
and Hari are clever. Who is clever as well as good ?
(1) Hari (2) Dinesh
(3) Chetan (4) Kapil
23. UH Gihfa® 9mud ENGLISH = GPINKU]J 3391 fegiard @ e wmd MARATLHI &1 9758 e

e 2

In a certain code language ENGLISI is written as GPINKUG]. How will vou write
MARATHI in the same language ?

(1) NCSCV]IK (2)  OCTNCSC
(3) OPSPvVsC (4) OCTCVIK

10
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24.

‘T FR Arae o arefsts ghr 2
(1) =0 5% GO HeTT $FHaw.

(2) S acd FwRmEEEd! fesdra

(3) M Hu g

(4) TEE TR AT SHEEET ST AT

What is the meaning of 'Old is gold' ?

(1) Old things are very expensive

(2) Old principles remain forever

(3) Gold is very old

(4) Now the things are not made up of gold

25.

R ?

RER, WY, 3], IRY, ¥EL
(1) wemfr (2) Ry
(3) & aIfTR (4) s 3T ]

Which digits should be interchanged to convert lowest number of the following group
into highest number of the group ?

269, 245, 381, 365, 468
(1) 5and 2 (2) 9and?2
(3) 6and?2 (4) 4and?2

26.

SR ZBO, YDQ, XFS, WHU % H9M TegdH Toeiel 3180 Aed @ V A JE o1 T2
W R B TEA ?

If ZBO, YDQ, XFS, WHU are similarly constructed groups, then the group starting with
letter V should end with what letter ?

(1 T (2) U

(3) Vv 4) W

27.

U1 SFHIUTehT Wh O H7eT 37, SHHTY A9 S HeAdiet Bidh 64 3118, S Hald HI3T He
Q023 3 T Fala Tg qe fhdl ?

(1) <8 (2) YR

(3) <oy (4) <o

There are in all five numbers in the sequence. The ditference between each consecutive
number is 65. If 1032 is the highest number of the group, then what will be the lowest
number ?

(1) 967 (2) 772

(3) 902 (4) 837

11 P.T.0.
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Ul T FE) |l T - - - -~~~ 37
(1) TsaqA (2) sl

(3) gEFElEE (4) YagumH

The head of the entire Civil Services of the State isthe .
(1) Governor (2)  Chief Minister

(3) Chief Secretary (4) Prime Minister

(1) e (2) TR HT
(3) TR (4) Tourmfoes sras
By whose assent do the bills at the State level become laws ?
(1) The Chief Minister

(2) The Speaker of the Legislative Assembly

(3) The Governor

(4) The Chairman of the Legislative Council

(2) TRIEATET formqea]
(3) TS VA 9 TAeh TSI gieama o e Hivedr
(4) A fawmEmEmd! faaqEs

State Finance Commission is responsible for -

(1) controlling financial administration of the State Govt.

(2) providing finance to the State Govt.

(3) deciding financial relations between the State Govt. and Local bodies.
(

4) providing funds for industrial development.

e waia fEfufemra g e fad 2wga s e 2

(1) = (2) dm

(3) =X (4)  HIH

Through how many stages has the bill to go to become a law ?
(1) Two (2) Three

{(3) Four ()  Five
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32. faumufucear fafidesr wET= gurE 9hd [, FRoT ———
(1) o U IRy 99TJE 3.
(2) O FHE TERK BIG T
(3) T BIEE hEHE Haseiel aTam.
(4) @™ F9EE Fasee Ea.
The Legislative Council of a State is known as a Permanent House of Legislature
because ___
(1) itis an Upper House
(2) itnever dissolves
(3) its members are permanently elected.
(4) its members are not elected.
33. SRRl forhalantr o i ?
(1) Y ISR AT 3IRHR YA o,
(2) TAFIMEAT el ITEATAT =T Taeadae for o,
(3) ARG HEFTAT TETTHR ITEHR I el IHROT HI01,
(4) WITER fOHEIeRoT=aT TAgER Y HoeAdl 3RO v,
What is the meaning of Democratic Decentralization ?
(1) Delegation of Authority to the lower levels of Govt.
(2) Expansion of Democratic principles to the lowest level of Govt.
(3) Application of the principle of Democratic centralization to the organization of
Govt.
(4) Application of the principle of Administrative decentralization to the
organization of Govt.
34, TTEERET G w7 SR 2

(1) ==

(2) UHETF

(3) T fawm sifumT
(

4) A wEEE e

Who is the secretary of the Village Panchayat ?
(1)  Sarpanch

(2) Gram Sevak

(3) Block Development Officer

(4)

4)  Chief Executive Officer

13 r.T.0.
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35. QEIA ‘31’ g ‘T o S faumE fan wEA oA TR Ey T RN SEE uhia
EEEt

(3) @ fEsrE SREHAT $IE e A, 6 weTE Aar | e i e
(1) ‘31 gea uig ‘v 235

(2) VU EF UG A A

(3) ‘o1’ @'Y Sl Hed Wiy ‘T % e’ A Ay &Rl AR

(4) ‘=1’ T ‘T I A T X R et | AT T ofTR.

Consider the statements 'A" and 'R" and find out the correct relationship between them.
(A) The total autonomy to rural local bodies is inconceivable.

(R) They have to conform to and fulfill the plan, objectives and relate them to local
needs.

(1) 'A'is true but 'R’ is false.
(2) 'R'is true but 'A’ is false
(3) 'A’and 'R’ both are true but 'R’ is not the correct reason of A

(4) 'A"and 'R’ both are true and 'R’ is the correct answer of 'A’.

36. T TR TSt FET-u-fe & R i e, wROT oo
(1) TS Teel SiA AT FigHT=a1 JTea. TR0 Slichen fHafae.
(2)  TISHAT SRy wE . |
(3) ufecan Mo HEFETe SraHl Aferie ST p2uT e,

(4)  TITSTAT e ACATIE=AT YRS 40T 391 awr orel fae gl

The British Raj awarded the title 'Kaisar-E-1lind’ to Mahatma Gandhi because .

(1) Gandhiji achieved extraordinary prestige in the foreign countries duce to his
intelligence.

(2)  Gandhiji did his social work of awakening the people.
(3)  Gandhiji served the disabled soldiers in the World War-1.

(4)  Gandhiji made his struggle successful in South Africa with his weapon of
Satyagraha.

14
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38.

39.

A
37. HOQIYeE AHSIE ST S0 hefl ?
(1) YeTar SafRe Fol
(2) T aEmEEd e
(3) T FT TEE
(4) TSI SAE IR HERTST
Satyashodhak Samaj was founded by .
(1) Mahatma Jyotirao Phule
(2) Dr. Babasaheb Ambedkar
(3) Gopal Krishna Gokhale
(4) Rajashri Chhatrapati Shahu Maharaj
TS ARael) TR qeEn Fec FHRT —
(1) SITR=TAT Sfed ot
(2) ‘9RT BIE SRATAT HEIAET FER HUATHS
(3) ST ymfavaEE)
(4) hifdRRl JahiAT Eifed FUgER!
Gandhiji took out a 'Padyatra’ in Naukhali because
(1) to unite the farmers.
(2) tospread the idea of '‘Quit India Movement'.
(3) toputanend to the riots.
(4) tounite revolutionary youths.
‘qot ER RO S e
(1) ®. e — #erag fsm
(2) W T — T JremTe
(3) W — ef. sTeEHR
(4) W T — TS @R
'Pune Pact’ was signed between
(1) Mahatma Gandhi — Mohammad Jinnah
(2)  Mabhatma Gandhi -— Ramsay Mc Donald
(3) Mahatma Gandhi -— Dr. Ambedkar
(4) Mahatma Gandhi — Samuel Hoare
15 P.T.O.
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40. 3.\ 09n TR S < TOA Slmee ] ST ST SaleiY S T AT
FNTAT TAATA T A 7
(1) IEFAE THASRIGEE 3214,

(2) o aEEaAR! Tafasg EEATE 3o,

(3) W UBHIEEH %S SR 22

(4) HEEE foeg v 22,

Which of the following correctly explains the nature of the "Agricutural riots known as
the 'Deccan riots of 1875' ?

(1) Anti-zamindar peasants revolts

(2) Peasant revolts against British colonial rule

—~
~—

Peasant revolts against foreign planters

A
)
(4) Peasant revolts against moneylenders.

41. 9RATG JaTe SRR Seaq ST WP Hiclienishl 10T =2 HIONYE ot 2

(1) 9re=med fomgen (2) zTES e FqEn

(3) wrar 3T gyl (1) forfera geamamtan Se

Which of the following factors was mainly respensible for the intellectual awakening in
India ?

(1) Western Education (2)  Hbert Bill Controversy

(3) Economic exploitation of India  (4)  Rise of educated middle class.

42, IEAMYTE YA BT CHER ' Bl URAl Fele] AT STe] 1 FediiE euTs -

(1) TS e (2)  arclen TeaTE

(3) ATTY HET TATR (4) TEEE Y R

Vallabhbhai Patel carned the title 'Sardan in .

(1) Kheda Satyagraha (2)  Bardoli Satvagraha

(3) Nagpur Flag Satvagraha (-} [lyvderabad Liberation Struggle

43, ‘=6 A AREHERET a5 e E 10 123 Aeta s

(1) ST0T 3FTH 310 (2)  wETTEREE T
(3) = HEAD i EEEER R

The Congress radio in Mamboi durig Ouit India Movement was operated by oo
(1) Aruna Asaf Al o Avantikabal Gokhale

(3)  Usha MMehta b Tansaben Meihta
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44.

T 371l RIS &7 B ?

(1) Hea HgHfae sfaere (2) THIHS HEhed GETH
(3) HaE e (4) TR wETEERT

Who was Sir Arthur Crawford ?
(1)  Municipal Commissioner of Mumbai
(2) Founder of Crawford Market

(3) Governor of Mumbai
(4) Viceroy of India
45. YT SERTH HST AT e holed] A e —-————-- .
(1) 9 (2) T
(3) TSR (4) HTo
Balshastri Jambhekar started the newspaper in Marathi named as
(1) Prabhakar (2) Darpan
(3) Induprakash (4) Kal
46, ——————-- S TERTRIA T T Sl hg, TR
(1) =en (2) @TREET
(3) URH (4) TTEHRATE!
is the major wind energy centre in Maharashtra.
(1) Chola (2) Khaparkheda
(3) Paras (4) Chalkewadi
47. AT YHedrE] JEF - - - &1 B,
(31) A=A (9) Sty fAfddt
() HARSH (%) R
(1) ‘31 99 1=, (2) ‘9 79 AR,

(3) ‘o1’ el ‘e’ Sl WeA TR, (4) FE faum 99 anga.
The purpose of Koyana projectis

a) Irrigation

b)  Generation of Hydroelectricity

J I

d)  Flood control
1) (a)is true (2)  (b)is true

(
(
(¢} Recreation
(
(
(3) (a) and {b) both are true (4)  All of the statements are true

17

P.T.O.
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48. @ ‘31 F ‘T g0 R faumiEn faen FeA Al TR ey T RO SgH 9Ty
fra=L
(31) H=E & TEREE O aRRE 3.
(1) Ha & Iehw ot 3R,

(1) ‘31" ‘T & =l faum sier o ed 9 T 8 131 o A0 Tl ST

(2) ‘e’ T T E T A e o Rd Wi U R A = A ST e,

(3) ‘1'% faue SRR o 9 ‘T gF AR

(4) ‘1'% faam = oTe 3 ‘U e AR,

Consider the statements 'A" and 'R’ and find out the correct relationship between them.

(A) Mumbai is the largest market place in Maharashtra.
(R)  Mumbai is an ideal port.

(1) Both'A'and R’ are true and 'R’ is the correct explanation of 'A’
(2) Both'A'and 'R’ are true but 'R’ is not the correct explanation of 'A’
(3) 'A'istrue and R'is false

(4) 'A'is false and R’ is true

49. TENYN TEEA GSNIEN HSAHIET 3769 THIE 378, FHROT e —————- T,
(1) #F=x (2) s
(3) TR (4) ofe=g
The ground water resources are poor on Deccan trap because of its — structure.
(1) Porous (2) Jointed
(3) Permeable (4) Impervious

(1) @ T R R,

(2) T grfE I e,
(3) 9 Gl qehes WS AT
(4) T FEATH Toohos TS ST

The delta of River Ganga is known as Sunderban because

it is beautiful

(2) it has fragrance
) Sundri trees are abundant here

Sandle trees are abundant here
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5], —emmeeee- 1 feaeft AR T IEUe daEy gEard
(1) R HME (2) R ELH
(3) ¢ fed= (4) RAs[
The Sun shines vertically over the city of Bhopal on S
(1) 215t March (2) 22nd September
(3) 215t December (4) 21stJune

52. IRARIE @ACdeh] VT T gSi=eraea] Jemd 21 2
(1) =hlehoT fRATg
(2) wRWE 9eR
(3) E I
(4) BT AR BR
Which of the following regions in India comes under rain shadow area ?
(1) Konkan sea coast
(2) Plateau of Maharashtra
(3) Tarai Region
(4) Plateau of Chhota Nagpur

53. oRarE yeE@ (IST) & ——-—-—- NIRSEIERECIES
(1) 20° Y T (2) Qo d. Y@
1
(3)  %co” Y Y@ (4) ¢ e
Indian Standard Time (IST) is related to
(1) 90° E Meridian (2)  90° W Meridian
(3) 180° E Meridian (4) 81 % ° E Meridian

54. f& vz {eficga divs gogave SRy 376 Terne () = w19 - - - - - ot 3Te.
(1) = gRwe (2) = 225
(3) uue 238y (4) THA QRRL

The State Industrial and Investment Corporation of Maharashtra (SICOM) was set up
in the year

(1) March 1970 (2)  March 1966

(3) April 1967 (4)  April 1968
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55. WEAdeh! shioTdl SHET foened e 99 AR ?

(1) R
(2) IR =

(3) oo & ¥edt HiRT

(4) otfafee deRdE

Which of the following is not a problem for large scale industry ?
(1) Modernisation

)

(2) Technical knowhow

(3) Policy of distribution and prices
(

4) Over population

56. 3TrENfiTeh shidi=n YRATER Jeiel IR 2T,
(1) =TT Ydl=a1 9] Tt &l fiqeg SrTeT.
(2) RAr=A S faRm e
(3) RIS gy e s,
(4) YTRATIS FERSEAT & TG I g e,

The result of the Industrial Revolution in India was as follows ———— —

(1) The articles of good standard were available at low cost.
(2) There was industrial development in India.
(3)  Unemployment was eradicated.

(4)  The small scale industries in India and the traditional skills were destroyed.

57. R T 04T WG iVl Uk 52 T97d YT sl ?
(1) TeBvTdeT] (2) HAHA
(3) TIHEl HHT (4) TN ITASAT

To establish any industry, which one of the following factors plays a major role ?

(1)  Communication (2)  Raw material
(3)  Government Policy (4) Availability of workers
20
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58. @eld ‘31’ g ‘T faum faem we el TR Hey F9Y SR0TRT ST 99y fae.

(37) TN foehTe AT YRAT Al e,

(V) SEn TSR] |l Suwred e,

(1) ‘o' =T F AR faum R s 9 ‘T F 3T F TH BT AT,
(2) ‘3’ T T E TR faUTH IR AT W ‘T ® 31 A IEH HIE0T AT
(3) ‘=1 & faum =R o 9 T g IR,

(4) ‘=1’ fourd 9% 7% 9 ‘T W .

Consider the statements 'A’ and 'R’ and choose the alternative that gives the correct
relationship between them.

(A) The development of small scale industries will rebuild the rural India.
(R) Small scale industries provide job opportunities.

(1) Both'A'and R’ are true and 'R’ is the correct reason for 'A’.
(2) Both'A'and 'R’ are true but 'R’ is not the correct reason for 'A'".
(3) 'A'istrue and 'R'is false.

(4) 'A'is false and 'R'is true.

59. WERIEN H1El AHT Sfeere fsail selereifeh SuswTi=a1 gauar | Seare — - 49

% el AR,
(1) e (2) =R
(3) TSHETR (4) TR

In Maharashtra, some rural Adivasi women have started production of electronic
spare parts at

(1) Aalandi (2) Indapur
(3) Rajgurunagar (4) Solapur

60. VRAWI SRS BT Wielisl HI0es 8 3718,
(1) fafrdeom=i gear.
(2) =afHFRTTE ae.
(3) N SESTI 3HCTSH AR
(4) ICUEATH! HTTEHT UEdl & el

Indian Handicrafts Business is collapsing because of the following reason :

(1) Emergence of specialization

(2) Individualization increased
(3) Labour was easily available
(4) Introduction of factory system of production
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61. gE=1 oaTfih AT TEA SRR @ SR FETn g g - -~ - B
(1) SIS HT 0
(2) TER IqH FrRfan
(3) Ui TSl sy
(4) I=AfrEOTIE SRR

From Second Five Year Plan, Govt. had concentrated attention on industrialization
because _

(1) toreduce unemployment

(2) toincrease per capita income
(3) toincrease standard of living
(4) to promote higher education

62. ‘3R fet’ § Ao — -~~~ - gt fAfHdr o1
(1) =2 (2) TR
(3) ThIfEE (4) TA. 3T =
'Office Hindi' software is launched by
(1) C-DAC (2) Microsoft
(3) Infosys (4) NIC

63. SR TETRT 9are GHEHIEEE [OUagaTaA Yamehs Foll aL e asid —— - -—
(1) &l B[ SEd
(2) @ed ST
(3) S=TeAT ded J fearedTd FHl gl
(4) 9IS e BT TS

If a body is moved from equator to the pole on mean sea level, its weight .
(1)  will decrease

(2)  will increase

(3)  will increase in summer and decrease in winter

(4) will remain the same

64. TACH IAET — - - 2 UF HIF T

(1) fegfafes (2) wifFEm
(3) TAfEy (4) FA (Ffoe)
Stainless steel contains .
(1)  Aluminium (2)  Chromium
(3)  Magnesium (4) Tin
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65. ATEETd AlSr=T YhTeT 3Tel fouar 9 =R TeTTeR U Adl, HR0T ~——— - -
(1) 19T eaAT reft Fmfor e,
(2) THRT TR 3TfiER ST ST,
(3) HAFETE Besl Huifgarden Afed dageiel S,
(4) ST HIVHET ATET.

During thunder, we see the light first and then hear the sound. The reason is

(1) Lightis produced before sound is produced
(2) Light travels faster than sound

(3) Human eye is more sensitive than ear.

(4) None of the above

66. SfEer=an fag@eem ~—----—- & forygere wev[ ST
(1) MnO, (2) CuSOq4
(3) NH4Cl (4) Hp504
In Daniel cell is used as a depolarizer.
(1) MnOy (2) CuSOy4
(3) NHyCl (4) H»SOq4

67. TigRaieT qR=aT HIZSTTET ST TS Shell STHAT YI0aTe qIHH ~-———~
(1) TR aRd (2) STEEmH AR
(3) wTEl URemy gUTR ATE (4) @ 3E

If the diameter of the cross-section of heating coil in the geyser is doubled, then the
temperature of water will

(1) rise in short time (2) take longer time to rise
(3) have no effect (4) come down

68. WEhT FstaTer o fesd 3181 & gET Seiardl = g STHe o 379N FeAl sheAdgdrd - -
TRUTIA.

(1) wesiier (2) e
(3) TAISHEA (4) HEYEHA

An association of two organisms in which one of the partners is benefitted while other
is harmed, is known as

(1)  Symbiosis (2) Parasitism

(3) Saprophytism (4)  Commensalism
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69. SHHETE Ydesier CO, = ATmeaRudiel FH1T Tger feadr ———-—--— 3T
(1) (2) ®HI
(3) A (4) Tafeaaanma 7q e
At the ground level, the proportion of COyinairis —____ during day time than at
night time.
(1) more (2) less
(3) same (4) can't say
70. WERIYTd Sedsae fee —- - ————— st TreBvard Ial

(1) ¢ Hgamrl (2) wsH
(3) 2% AN (4) 3RS

In Maharashtra, Biotechnology Day is observed on

(1) 28 February (2) 5June
(3) 14 November (4) 11July
71, ‘TR &1 yehed Hagd WA - - - ATETE! TFfS SO 3718
(1) U (2) TFRAREE
(3) FTSTFIYHR (4) TTEEFERET
'MUTP' project will be mainly implemented in Mumbai for —
(1) conservation of petrol (2) urban transportation
(3)  slum improvement (4) consumer protection
72. ‘HERY HifEdEn AfHEmE AR Q00 WA SdenEd Wiiielush! o= FHE AR ?

(1) WERTE ThHaT SE (2) ITEEE FETA

(3) A (4) TEHW FEEE

Which of the following does not come under the jurisdiction of "Maharashtra Right to
Information Ordinance 2002" ?

(1) Maharashtra Public Service Commission

(2)  Govt. Offices

(3) Courts

(4)  Co-operative Societics
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73. i Roo3 WA 'HERIY quUT’ --——-—- AT SR e,
(1) . <l g "ieH (2) oI HIRTER
(3) ©T. AW & A S ol S (4) dfea HoEs soelh

In 2003, the award of 'Maharashtra Bhushan' was declared to ________
(1) Late Dr. Neetu Mandke
(2) Lata Mangeshkar

(3) Dr. Abhay Bang and Dr. Rani Bang
(4) Pandit Bhimsen Joshi

74. ‘Y . SOUS FEAT STREHT -~ - AY .
(1) F=% (2) T
(3) TATH (4) Teeedt
'P. L. Deshpande Kala Academy'is located at
(1)  Mumbai (2) Pune
(3) Ratnagiri (4) Delhi
75. WRAT AR (W) Yo goH - -———- Y T Al
(1) Teeed (2) el
(3) == (4) W
In India, Metro railway was first started in )
(1) Delhi (2) Kolkata
(3) Chennai (4) Mumbai

76. #U% (OPEC) W&l Wiciiciieh! o= THES] A%l ?

(1) (2) o
(3) festian (4) =T
Which of the following is not included in OPEC ?
(1) Russia (2) Kuwait
(3) Algeria (4) Venezuela
77. AT 9fect ‘ HE AR oo 39 3T,
(1) Wery (2) et
(3) Tew (4)  eATCE
The first ' Peacock Sanctuary' of India is situated in ———
(1) Maharashtra (2) Rajasthan

(3)  Gujarat (4) Madhva Pradesh
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78. Ueh1 Hichfaeh WG SUTIERI=T 3hH TG T 3718 -
EV FU GT HS ™ Yeia auiisi=i Siret sordt TEre ?

The alphabets of a certain code language are in the following order :

EV FU GT HS. What will be the next pair of letters in the same code language ?
(1w (2) MT

(3) IR (4) KS

79. TR A AEOMY S .
¢, 28, B¢, 812, Q&0
(1) 22 (2) R&o
(3) 3¢ (4) <&

Find the odd man out:

8, 16, 48, 191, 960
(1) 191 (2) 960
(3) 48 (4) 16

80. Terrea ST Arer 37k fofge ATRoTeRT [T S,
W¥R, RBIY, WK — , ul¥3
(1 = (2) 4
3) & (4) =
Complete the series by writing appropriate digit in the blank space.

1543, 2425, 125 — , 5143

81. irer Seyel Afée T Yeadl gig AT ATET USE! Al ATEl. A g1 slRomier 31fien T el
qig AT FaeueE Tl ATEL. @ Wieiersh! IV Jesvare T Feld s 3.

(1) @™ (2) fo=m
(3) BRo (4) ==

A horse runs faster than an Ox but not so fast as Tiger. Tiger runs faster than a Deer
but not as fast as a Panther. Then who among the following is the fastest runner ?

(1) Tiger (2) Panther
(3) Deer (4) Horse
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82.

A

AteifTerT Aag). = fohmg .M. J.eeT =7 diHue 3T, SLOv.ud. el = fema snfaen
= = g AR

Tt iyl warea (2158l ) fhudl = 5UEd g 000 T SR, W AT 2. = fhua
foRelt o7 2

(1) & qYy,000 (2) ®. 2R,000

(3) ®.Ro,000 (4) % ¢,000

Optonica TV's price is thrice to that of BPL and BPL's price is twice to that of Onida.
Average price of three TV sets is Rs. 6,000. What is the price of Optonica TV ?

(1) Rs. 15,000 (2) Rs. 12,000
(3) Rs. 10,000 (4) Rs. 8,000
83. Yol oot } SuiAl S8 U1 3TSTEuet 3 aui+l A3 TR, 1 faui=a1 o= st 9% a9 312,
W oo =g famdt 2
(1) wad (2) ‘oad
(3) e (4) e
Sanjay is two years younger than Vijay but three years elder than Ajay. The total of
their ages is 14 years. What is the age of Vijay ?
(1) 5years (2) 7 years
(3) 11 years (4) 12 years
84. UHT WhFfaw WG FHNPCE o1 GOD 31 fodian @ cars |ikfas amig ACDECE 3
feferat ?
In a certain code language FHINPCE is written as GOD. How will you write ACDFCE
in the same code language ?
(1) ROD (2) BAD
(3) DOT (4) BED
85. WHifethan faq Hee gmem.
R4S, Y, - ¥uR
(1) R¢R (2) 3%
(3) 3 (4) 32
Find out the third member of the series :
187, 255, ———, 459
(1) 289 (2) 323
(3) 357 (4) 391
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86. WA 3T 0T &0 3 Feaiel 101 gien] WU BFsheaddl HReaT Hil.

¢\ fare
D
e@aﬁa
) 4 (2) v
S (4) 3

Study the following diagram and identify the number of cricket players who also play
football and hockey.

Cricket
Hockey

- Football

(1) 5 (2) 7
(3) 79 - ,(ff?,, 3

87. T WeRT T IWT 3TME. HIAT HHIF ¢! 2hichgA HeTal Jdl. T T fohell saeb! 3vaT 37ed 2
(1) 2R (2) 2%
(3) | 4) <
I am standing in a queuc. My number is 6" from both the ends. How many persons are
standing in the queue ?
() 12 (2) 11
(3) 15 4) 9

88. UeRT Hichfasdk 9Ud STRONG BT 9155 TSORGN 3141 A sidr o &= 9 BEAUTY @
g heT foagm ?

In a certain code language STRONG is writlen as TSORGN, then how will you write
BEAUTY in the same language ?

(1) UTYBEA (2) UYTAEB
(3) EYTAEB (4) EBUAYT
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89.

A
Afqar, frerer evifor |emis geant 3T, ST, Fer oTfor wfaumeT S e, A, S safor
(1) fem (2) g
(3) AT (4) o

Manisha is shorter than Nilesh and Sudha. Veena is taller than Sudha and Manisha.
Jyotiis taller than Veena and Nilesh. Who is the shortest of all ?

(1) Nilesh (2) Sudha
(3) Manisha (4) Veena

90.

R HEAT SR F&TaT ShAT ATl TR cTioh! Tl = Aeell 3ich hivrar ?
4L, WOE, 3¢, CUE, ¥EW

(1) = (2) ©

3) ¢ 4) =

What will be the middle digit of the middle number, if the following numbers are
arranged in an ascending order ?

587, 476, 389, 856, 467

91.

(1) 6 2)
(3) 8 (4) 9
S3I+3=8 " +R=2%9-3 =30 W RW+Q?
S (2) 3
(3) ¢ (4) 3
f3+2=6,16+2=14,7 -3 =21, what would be 27 + 9 ?
(1 3 2) 36
(3) 18 (4) 243
YR TG ATTesT Feh I,

B9, 932, W¥, 2RR
(1) e (2) 2
(3) ¥ (4) 2EE

Find the odd man out :

77, 121, 154, 166
(1 77 (2) 121
(3) 154 4) 166
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93. 3303 T 3o AT WA U] T HEANL 3 71 31 Uyl Rt deT o ?

(1) o (2) %
(3) (4) 3%
How many times does the digit 3 occurs between 2301 and 2330 ?
(1) 30 (2) 34

(3) 31 (4) 33

94. ‘d ST HEd shiel FRY A U =T o g A faumesd @i TRt It o e
Flear a5 2
(1) 1 Hed S d s wEam.
(2) S st e 9 Aed O TEw.
(3) S Hea e vidhdl o o AL
(4) ¥E AT o AEd ww.

"He will surely help because he is a good friend.” In connection with this sentence,
which of the following statements is most appropriate ?

(1) Those who help are friends
(2) Those who are not friends, do not help
(3) Those who can help are not friends
(4) All good friends help

95, WA hivTed HEdd 3 7 9 9rr S ?

(1) 32 (2) Roc¢
(3) 2te¢ (4) <¢
Which of the following numbers is divisible by 3 ?
(1) 317 (2) 208

(3) 108 (4) 98

96. WH U 3.5 HieX 39 fHder Fed . R AR @ qu €. = gwd 9 e e
b HH, el Swd. A T e s 2wl deearE der R dw dre 2
(1) 38 fe (2) % fide
(3) ok e (4) e e
A wall lizard is climbing over a 3.6 metre high wall. Every minute it climbs 15 cms and

comes down 5 cms by the next minute. How much time it will take to reach at the top
of the wall ?

(1) 36 minutes (2) 24 minutes

(3) 72 minutes (4) 48 minutes
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97.

qrfetera Tae seh 9.,

Find out the third member of the series :

ROOA, AR OO, OOA K
m AL O @ T AO
@ (1O Q& A @ [N O XX
98. 3, & 3T & &1 diel HISAT=A1 ST S AT ¥o TN AR, SSIIEA Y TR carea s=rat
s fohed oY g ?
(1) wuad (2) e
(3) Wy (4) w3ad
Today the sum of ages of three brothers A, B and C is 40 years. What will be the sum
of their ages after 5 years from today ?
(1) 55 years (2) 48 years
(3) 45 years (4) 43 years
99. &I Wishfae sd ORIGINAL =1 3158 ORNIGIAL 311 fo@iar @ @@= soa QUESTION
&1 91sg 4T foreret ?
In a certain code language ORIGINAL is written as ORNIGIAL. How will you write
QUESTION in the same language ?
(1) QUITSEON (2) QUITESON
(3) QUSETION (4) QUTISEON
100. w1 foarfea siew™ (qdt-ge41) F faanfed et oW AT Yol a4 Hof 3T"d o o

FEaRI ST THUT Hea fomedl 2
(1) . (2) =R
(3) 2% 4) 1

A married couple (husband and wife) had two married sons and each of them had
three children. How many members are there in the family ?

(1) 7 2) 12
(3) 11 4) 9
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